


Dice Is A 3-D Structure Having 6 Faces Or Can Say
Cube Like Structure But On The Surface Of Dice
Some Elements Are Printed
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THERE ARE TWO TYPE OF DICE
qTET <1 Th1E T

1- STANDARD DICE
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2- ORDINARY DICE
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(1) Standard dice : Only numbers are used here I.e.
1,2,3,4,5,6 and one more important property is opposite
faces sum Is 7, for example 1+6=7 means 1 is opposite to
6 and so on . (1) ATFF YTAT : T&T HaA GEITSN HT STINRT FhaT
SATaT g ATt 1,2,3,4,5,6 T TH HgdQul a1q AT ddg w7 I
7 AT g, SIEM F T 1 + 6 = 7 7 oo« 1 F fAgda 6 g =i}
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(2) Ordinary Dice : Here numbers, letters colours and
symbols can be used. Also If the sum the adjacent numbers
is 7 then the dice is called Ordinary Dice (2) TR 91T : IT
TEATY, 3T, T 3T Tl T STANT {HAT ST FHhaT gl STF STATAT

wwaﬁﬁmmw7%ﬁwﬁww*@ ST

=y




There are three Rules of Dice

> One Element Common
> Two Element Common

> No Element Common



There are three Rules of Dice

> One Element Common
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There are three Rules of Dice

> Two Element Common
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There are three Rules of Dice

> No Element Common




Q.1: Two positions of dice are shown. What will appear on the
opposite to the face containing 5?

¥.1: 79T i <1 Ferfaat feems 1= g av A1q hifsrg i 5 & faada aag <
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(A) 3 (B) 2
(C) 1 (D) 5




Q.2: Two positions of dice are shown. What will appear on the
opposite to the face containing 4?

¥.2: 91T T < Riat faars w2 § ar A1a Hifeg # 4 F g aag
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(A) 3 (B) 2
(C) 1 (D) 5




Q.3: Two positions of dice are shown. What will appear
on the opposite to the face containing 3? ¥.3: 9T9T &l v
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(A) 3 (B) 2

(€)1 (D) 4
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Q.4: Two positions of dice are shown using A to F letters. What will
appear on the opposite to the face containing B?

T.4: qET =t <7 it A § F o fR@rs 1= g a1 919 HifSg it B & faadia qag
g T T2

(A) F (B) C
(C)E (D) CND
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Q.5: Two positions of dice are shown. What will appear on the
opposite to the face containing 67 ¥.5: grat #it =1 Rafaat e
TS g AT ATT HIOT T 6 % FATOT g T AT 1?2

(A) 3 (B) 5
(C)1 (D)



Q.6: Two positions of dice are shown. What will appear on the
opposite to the face containing 6? ¥.6: 9raT Fit T fexfaat ka1
g ARt 6 F fAuda gag ax =T FE?

(A) 3 (B) 5
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Q.7: 4 positions of dice are shown. What will appear on the
opposite to the face containing 2? ¥.7: 9147 &t 4 fufaar fkems 1=
g a& AT Herg &t 2 & [ a8 9 797 72

(A) 6 (B) 5
(C)1 (D) 3
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